LOSUNG zu bsp-7595-2/KXOI

Arbeitsblatt

19.11.2015
Kostenlos auf dw-aufgaben.de
Aufgaben-Quickname: 7595
Aufgabe 1 ,
PR = Quick:
7595
Erstelle den Bauplan zum Turm wie im Beispiel a).
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311[1[1
a) 2(1]0]1 b)
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Aufgabe 2 ,
= R — Quick:
7595

Erstelle den Bauplan zum Turm.
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Aufgabe 3 Quick:

7595
Erstelle den Bauplan zum Turm wie im Beispiel a).
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2[1[1 3[1]0
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2(3[1 1]1]2
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Aufgabe 4

Quick:
7595
Erstelle den Bauplan zum Turm wie im Beispiel a).
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a) | 0[2]0]0 b)
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Viel Erfolg]!

www.dw-aufgaben.de Selte 2 bsp-7595-2/KXO0OI1



